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It might have entered your — X% 1719 7K 1923 RI9MK 0T XP90
mind to say only the flesh but not the hide

Overview

The P05 reads *P1 MW YY1 1WA DR 2R K2 M@ 90 71p0.! We derive from
7OX> X9 that it is 7X172 70X, However we may have thought that only the
TW31 is X172 MOK, but not the My (for it says 1w2a NX 9aR° X71); therefore the
770 writes P11 MW HvaY that even the MY is 8372 MMOR. Our Moo will
discuss the seeming duplicity of the P109; writing both 7?2 and "Y'

nooIN asks:
—>19wam “9umn PINYSY 9NN ON)

And if you will say; let the P10 be silent and mention neither Y9 (his

hide) nor 19w2 (his flesh). Why is there a need for the exclusionary word of w2
(which excludes 1) and the inclusionary term of °p1 2w H¥2) (which includes 171)?!
The 73710 should have omitted both of them and written 928> 8?21 Wi 9p0° 2)90.

N1B0IN answers:
— %33 1u5 77aYT 23 YY GN 1WA PIVINT Y Y

And one can say; that Y922 is necessary to be written to teach us that it is
forbidden to derive nXi7 from a %poin W even if he was prepared to be
eaten like meat (meaning it was vnws).

mooIn anticipates a difficulty and resolves it:
— (x,N0 80P N23) 79) 7T NIV MY PY9a SAwaT 8D 1Y MY N

And the one, who does not support this interpretation (of 7¥v> 7°72Y7

Ww2), in T T AR IR PRS-
INIINN NYWITH NN

"'na,x3 (2Pwown) nnw.

217w is referring to *p1 MMwi v2) from where we derive that even 177 is X172 0K,

3 1f the 7710 would write only 758> 871 and not add the word 1w32; we would assume that the X177 10°X of X?
5ox° would include 1w as well (as 1w32).

* The X3 in p"a challenges the 7% that 17w2a nX 208> X7 teaches that even if vrw1 it is X172 MNOXR
(according to 172X ). Perhaps it is only 72°582 oK if it was 7p03, but if it were unw1 it is 72982 1M1 and K7
9% teaches us X177 MO°X, (only) when it was 9p01. One refutation there is that if 90X° X7 is teaching 0%
X117 when 9po1, why mention w2 nk? It must be that 11w3 nX teaches that even if (bnwiw) w2 Pyd 772V, it
is still 7IR3772 7OK.

3 This seems to be referring to the other (first) refutation there to the abovementioned challenge (see
previous footnote # 4); if 7o8* XY is teaching us [only] 7817 MR (if 7p01), then it should have said 737> 5.
According to this refutation we derive (78177) 72°2& MK after 7w nw from o8> X7 and not from w2 NX.
The question then remains why write 172 and ""y'?!
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He will use w2 nx for a different 7w=7.° Therefore 1Mwa is necessary
(according to both 7"n); once the 7N writes W2 it must also write >P1 MW YY) to
include 17 in the 1"mMo°X.

Summary
The 770 must write 17w2 NXR (either for w2 Y2 7972V or some other 7wWA7T)

and therefore must also write >p1 7W;7 2v21 to include 1.

Thinking it over

1. From our X3 it seems that we derive the (7R3m) 77°9K% MoK for a W
VIwIY Y017 from YoR° X9Y; however from the X773 in P"2 which n190IN cites
it appears that we derive it from 17%2 nX (at least according to one 7"n). How
can we reconcile this difference?’

2. mooin asks why the duplicity. Perhaps we can explain that 17w2a DX
excludes 17 from nMp9n and *pP1 Wi Pv2) includes 1Y for an 7wy Moox!®

® The X3 in 3,72 1"V derives from 17w2 nX that W (its waste) is permitted.
" See 717 11°21 w1 (and [TRA] R"wR).
¥ See n"x.
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